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2021-2022 Examination E
Notice
1 You may answer question [1] in either in English or Japanese. You must answer
question 2 in English.
2 The English is an approximate translation of the Japanese, not a direct translation.
3 There are two problems from |1/ to , printed in English on pages (p7~10).
4 The examination is 45 minutes long.
5 You must not read the problems aloud.
6 You must be sure to clearly write all of the answers on the answer sheet. Only submit
the answer sheet after the examination.
7 When you rewrite an answer, be sure to completely erase what you have written,
then write your new answer.
8 Be absolutely sure to enter your examination number on the bottom right of both

pages of the answer sheet.
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Examination E

English Version



Hanako is preparing for a presentation in her integrated studies class.

Read the conversation below and answer the question.
Teacher: Hanako, what will you give a presentation about?
Hanako: Well, I’'m going to make a presentation about food loss. That’s food that could be eaten, but is
thrown out. I’ve been interested in it for a while. Look at the documents I prepared. From
resource 1 we can see that there are a lot of problems connected to food loss. So people expect a
lot of good effects to come from reducing food loss.
Teacher: Really. Did you do any other research?

Hanako: Yes. From resource 2 we can see the amount of food loss in a year in Japan and where food loss
happens. From resource 3 we can see the causes of food loss.

Teacher: What were some of the causes?

Hanako: As it shows in resource 3, there are three main causes:directly throwing food out, leftover food,
and waste from the cooking process.

Teacher: You did a good job of researching this topic. How are you going to present it?

Hanako: First, I want to talk about one of the benefits of reducing food loss from resource 1. Next, from
resource 2, I want to focus on the amount of food wasted in the home. I will calculate the
amount of food loss from homes compared to the total and present that as a percentage. Finally,
from the causes in resource 3, I want to present one of the Actions and situations that lead to the
cause each from the two causes closest to us: directly throwing food out and leftover food. I will
tell my ideas for clear actions on how to reduce food loss in each of those situations.

Teacher: That will be a great presentation.

Resource 1 Problems related to food loss and benefits expected from reducing it

Reducing food loss is connected to

the reduction of overall waste. Food

Reducing food loss increases loss i a marker  of mass
awareness of the importance of consumption and waste.

food, meeting the goals of nutrition Reduction of food loss is connected

education at the same time. to the reduction of greenhouse

gasses caused by the waste of food

and the processing of that waste.

Now 1 in 4 Japanese people are
overweight. Rethinking a society
that makes overeating possible is

linked to improving health.

By reducing wasted food we can
reduce the water used in the

production and processing of food
\ both in and outside of our country.

By not wasting food which was

Reducing food loss is connected to
supporting those who cannot buy

roduced using various funds, we
food. P & ’

can reduce economic loss. The costs
of processing wasted food can also
be reduced.

Not wasting food leads to ensuring
food safety.



Resource 2 Food loss in 1 year in Japan
in tonnes (metric tons)

Manufacturing

121

Wholesale

business
e Ny

Retail Shops _+* r*
\

64

Household |

284 |

Food service industry

127

Resource 3 Causes of food loss
Cause Actions and situations that lead to the cause
Directly throwing | Buying more food than is needed

food out Not knowing how to cook leading to wasting food

Making more food than is needed
Leftover food
Neglecting or forgetting about food that was purchased or cooked
Waste from Not having enough cooking skill
cooking Overthinking one’s health

(Based on 2017 data from Ministry of the Environment website)

Resource 1, Resource 3 were made based on What we can do to reduce food loss by the Minestry of

Environment

Question

You are Hanako. How will you give your presentation? Write your presentation script.

Calculate up to the second decimal place and round up or down. Write the answer to your calculation in

your script with only 1 decimal place. You do not have to show the calculation process.




Hanako noticed that there was a bicycle parking area near her home with many of the same bicycles.

She researched this on the internet and learned there was service called Saitama City Community
‘Cycles. She talked about that with her teacher.

Read the conversation below and answer the question.

Hanako:

Teacher:

Hanako:

Teacher:

Hanako:

Teacher:

Hanako:

Teacher:

Saitama City Community Cycle stations are placed near train stations and in the city.
These stations are called ports. People can borrow a bicycle from one port, use it, then
return the bicycle at another port. Even if you don’t have a bicycle at home, you can
use one. [ think it’s really useful.

Services like this are increasing all over the country and it has become a new way to
move around. These services are often called share cycle.

Yes. I researched how many cities in Japan have introduced share cycle services and
found resource 1. I also checked the reasons that cities introduced these systems and
found resource 2.

You did a lot of research. It looks like across the country share cycle services are used
most in sightseeing areas.

My sister said that when she was on her school trip in high school, there wasn’t even a
single bicycle left in the share cycle port so she could not use one. I researched
problems with share cycle services in sightseeing spots and found resource 3. It’s fun
to ride bicycles and share cycle services are really useful. I hope that they spread more
in sightseeing areas.

Well, why don’t you make a speech about share cycle services at the class meeting at
the end of the day?

Okay. So, I will make a script for my speech. First, from resource 1, I will present
how the number of cities that have introduced share cycle services is changing. Next,
I will present the most common reason that cities in Japan have introduced share cycle
services programs from resource 2. Then, I will talk about the most common problem
with share cycle services in sightseeing areas from resource 3 and tell the class 2 ideas
for how to fix that problem. Last, I will tell the class my own feelings about share cycle
services.

Saitama City has a lot of sightseeing spots so I hope your ideas can be used in Saitama

City. I am looking forward to your speech.




Resource 1  Changes in the number of cities with Resource 2  Reasons for introducing share cycle

share cycle services services

Cities

180 0 20 40 60 80 100

159

160 A strategy to increase sightseeing _
140 i To supplement transportation —
120 To revitalize the community _

i 75 77 & To reduce the burden on the environment _
30 54 To improve health _

60

40 To reduce the number of abandoned bicycles _

20 To reduce the use of cars -
0 To reduce the total number of cars -

2013 2014 2015 2016 2017 2018 Other l

(multiple answers given)

Resource 3  Problems in sightseeing areas (top 4 problems)

0 20 40
There is a big difference between times when many people
use the service and few people use the service.
There is not space for bicycles to be ridden because there are
many people walking and driving.
Ports near sightseeing spots are most used. -
Bad manners and broken rules by visitors from
abroad.

(multiple answers )

Resources 1~3 are based on Regarding share cycle activities by the Ministry of Land, Infrastructure,
Transport and Tourism

Question You are Hanako. Write your speech script. Write your answer in English only.

This is the end of the examination.
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